Q1. Which element is needed by the thyroid gland to produce thyroxine
hormone?

Wsmﬁ%@ﬁw%ﬁmumﬁsmaﬁmaﬁaﬂmm

(29 Nov 2024, 1st Shift)
(A) Sodium /

(B) lodine / 3TATSIH

(©) Calcium /

(D) Potassium / el
Answer: (D) Potassium / TR

Q2. Which organelle is found ONLY in plant cells?
HH-TT 3T FHad Ured BT H gr e 82
(26 Nov 2024, 2nd Shift)

(A) Mitochondria / WW

(B) Chloroplast / Eﬁ_d NEEZ

(C) Lysosome / dgdh1Y

(D) Nucleus / &

Answer: (A) Mitochondria /WW

Q3. Select the correct option for liquid connective tissue.

Sd I4IST Sde & ol gt fadwed |

(29 Nov 2024, 1st Shift)

(A) Cartilage / IUTY

(B) Adipose connective tissue / dHTHY TIol SHdd

(C) Blood / Xad

(D) Areolar connective tissue / qﬁahm Tl SHdd
Answer: (D) Areolar connective tissue / qﬁahm Tl SHdd

Q4. What happens when pea plants showing two different characteristics (the
tall/short trait and the round seed/wrinkled seed trait), rather than just one, are bred
with each other?

BT ¢ o 7R $ Qi & Tob fabedl IS & ®IM W 2l fadbed) Siiel (cs/a wen
YT Tel/ZRIGR T&I0) BT ST B b (7T Hehu BT SIe?

(28 Nov 2024, 3rd Shift)

(A) The tall/short trait and the round seed/wrinkled seed trait are independently
inherited.

/ST A&7 T TMiel/FRIGR /01 Wi FY F I 81d &

(B) They are all tall and have round seeds in the F2 generation.

F2 Uigt & 4 9l &fd § ofR it el ardl 81 &

(C) Some F1 progeny are tall plants with round seeds, and some are short plants with
wrinkled seeds.

$ F1 et diet a8 @3 018 8 § iR 30 ifeR divr T 81 A 2 ¥
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(D) The tall/short trait and the round seed/wrinkled seed trait are dependently
inherited.

AS/SIIT T&UT T T/ AR &0 TRIEAd: SR 81 5

Answer: (A) The tall/short trait and the round seed/wrinkled seed trait are
independently inherited.

Q5. Which biotic component of an ecosystem is present in the greatest number?
foft ot & o19-91 Sfde g T 34fie e § Hislg giaT 82

(25 Nov 2024, 3rd Shift)

(A) Primary Consumers / W4 IuHtedr

(B) Producers / 3dIqd

(C) Secondary Consumers / fodia®s SUHIST

(D) Tertiary Consumers / W JUHIST

Answer: (D) Tertiary Consumers / Fj?ﬂ?ﬁ? JUHIET

Q6. Which of the following is the characteristic of striated muscles?

fraffed & @ oH-9 e Uk &1 faRvard g7

(25 Nov 2024, 1st Shift)

(A) Cylindrical, branched, and multinucleate / AAIHR, AR aﬁw@w
(B) Spindle-shaped, unbranched, and multinucleate / dpPIDNR, -2 3R

(C) Spindle-shaped, unbranched, and uninucleate / A ®IPIR, 31-TMRAd G?RQW’J
(D) Cylindrical, unbranched, and multinucleate / W, 31-TMRad @TEEW
Answer: (D) Cylindrical, unbranched, and multinucleate / éw 3-3MRAd 3R

Q7. Cranial nerves arising from the brain and spinal nerves arising from the spinal

cord together constitute the:

TR ¥ b arcll HUTd dHASE dul Bexs] ¥ e ardt 8% diRAe s

e fAmfor et 82

(25 Nov 2024, 1st Shift)

(A) Peripheral nervous system / URE dfAehT o

(B) Autonomic nervous system / 1T diAdT o

(C) Central nervous system / Wﬂﬁw o

(D) Endocrine system / 3id:9rdt A

Answer: (A) Peripheral nervous system / ufRkefig dffer da

Q8. Every trait in an organism is influenced by which of the following?
foreit Sfta &1 T foRive Fafafed & § fred mwifad g1 o

(25 Nov 2024, 3rd Shift)

(A) Only maternal DNA / WW@QT{E
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(B) By both maternal and paternal DNA equally / ATge Td aqcb Gl SITY I ¥H
Uy

(C) More by paternal DNA than maternal DNA/WWﬁWﬁW@W
Y 3HfeH

(D) Only paternal DNA / WW SltEly
Answer: (C) More by paternal DNA than maternal DNA / HIJ Sjlege a%’r‘g'amff

U STT 3 it

Q9. Which elements of xylem tissue form interconnected water-conducting channels?
SSAH SHddh & HIF-Y dcd TRIER Sd-HaTed o d -1d 82

(26 Nov 2024, 3rd Shift)

(A) Only vessels / ad dligdl

(B) Vessels and xylem fibres / qifghT @TW@

(C) Tracheids and xylem fibres / qifef®T ﬁ?ﬁlﬁ?ﬂi’@f

(D) Vessels and tracheids / dTfgbT iR a1fgfeT

Answer: (D) Vessels and tracheids / fﬂ’%ﬁ 3R Eﬂ%ﬁﬁ

Q10. Which of the following actions is responsible for the survival of species over
time?

frafafed & O oF-3 forar 9 & a1y sfadl & sifaa & fo forier 82

(28 Nov 2024, 3rd Shift)

(A) Conservation / TR&UT

(B) Variation / fafaerar

(C) Reproduction / USIH4

(D) Struggle / BSEL

Answer: (B) Variation / fafaerar

Q11. Which of the following is NOT a characteristic feature of epithelial tissue?
ufrefiferaet Sde ot uferad faRvdrse & & HH-t ve fa=war ¢t 82

(29 Nov 2024, 2nd Shift)

(A) Have no intercellular spaces / 3T i SIS R ol Bidl

(B) Separated from the underlying tissue by a cellular, non-fibrous basement
membrane / SHH JTRI-XRIGR YR fRreel! RT3 e ¥g dTel Sl U Sfei b
SIS

(C) Are tightly packed / I8 T gk ¥ I¢ 8Id &

(D) Covers most organs and cavities within the body / g TRR & 3T 3 3R
137 Bl ehd g |

Answer: (D) Covers most organs and cavities within the body / dg IRR & YR
3 3R TgTa Y T B

Q12. Which of the following controls bladder pressure?
fafiRed & 9 SF-91 HR™ & a1 & FUEd Rl 62
(27 Nov 2024, 3rd Shift)
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(A) Kidneys / 9a

(B) Nervous system / didhl o=
(C) Heart / gad

(D) Blood Pressure / Xdddlq
Answer: (C) Heart / gad

Q13. Cells of the meristematic tissue are very active, but they lack:

faHSaId® Sad (meristematic tissue) 1 HIRABTT AAfIS fhamfia gidt €, Afes
I UM HT 31T Bidl |

(27 Nov 2024, 2nd Shift)

(A) Dense cytoplasm / Sgd 31 PIRIBHIET

(B) Vacuoles / YT

(©) Thin cellulose walls / Tadl HIfRresT fHf

(D) Prominent nuclei / T¥ Hgd

Answer: (B) Vacuoles / YT

Q14. The following substances are stored in the vacuole of plant cells, EXCEPT:
frafifad gerf & O PH-T1 Sifkiemsit @t genat & s el g 87

(29 Nov 2024, 2nd Shift)

(A) Sugars / W

(B) Proteins / udH

(C) Amino acids / ﬁ'lﬂ:ﬁ 3K

(D) Mineral salts / LEIECRGELY]

Answer: (A) Sugars / BT

Q15. Where does the following reaction take place in a cell? The breakdown of
glucose, a six-carbon molecule, into a three-carbon molecule.

HIRTHT B Fafeiad sififosar wsf Sidt §: B8 HIa ardl 3] DI BT - PHla ardt
3] ¥ fad e |

(27 Nov 2024, 3rd Shift)

(A) In the nucleus / FePp H

(B) In the mitochondria / rns‘aﬁ%mfr

(C) In the Golgi apparatus / Mo |

(D) In the cytoplasm / DIRGT 5 |

Answer: (D) In the cytoplasm / DIfRMDT 50 |

Xamloppr.com

Q16. Select the correct sentence(s):
Te! faum &1 o9 B

(28 Nov 2024, 3rd Shift)

(A) Only a / dd a

(B) Only a and b/WaGﬁTb

WW\W.



Q) a, b,andc/a,bx’:h?c
(D) Only b and ¢ / %ad b 3R ¢
Answer: (C)a,b,andc/a, b 3R ¢

Q17. Identify the INCORRECT sentence(s):
Teld dTaR/aTeRll i Ugd Hifoid |

(28 Nov 2024, 2nd Shift)

(A) Only b and C/Wb\’rﬁ?c

(B) Only aand b/ %dd a 3R b

(C)Only a/ Hdd a

(D) Only ¢ / &dd ¢

Answer: (B) Only a and b /éb_d?l a 3R b

Q18. Fruits and seeds have a high concentration of which of the following plant
hormones?

wal SR stel # Fgfoiad & 9 forg urey 816 &1 3 Wil git 82

(25 Nov 2024, 2nd Shift)

(A) Auxin /

(B) Gibberellin / foraRfer

(C) Cytokinin / TrgclfdbfA=

(D) Abscisic acid / TfedRIe® 3+

Answer: (C) Cytokinin / ﬂ'l%‘cﬁ%ﬁ:[

Q19. Which of the following is NOT an example of osmosis?

fFufafad il § T S19-91 IRIRUT BT IST8R0 Tal 87

(29 Nov 2024, 1st Shift)

(A) Absorption of water by plant roots / are ﬁﬂ@[ GR1 5T &l SaRNy

(B) Movement of O2 and CO2 in and out of the living cell /\‘ﬂﬁﬁ&ﬁﬁ’lﬁ% 3ax 3R
IER 02 3R CO2 HT HITH

(C) Swelling of raisins when soaked in water / uﬁﬁﬁnﬂﬁm%&ﬁwww

(D) Gaining of water by unicellular freshwater organisms / TS PIRP WS o d H
U S 9T SIqUTRal gRT Sid Ut 6=

Answer: (D) Gaining of water by unicellular freshwater organisms / T HIRG
WS o U UR S dTel SHayTiRal gRT S U Bl

Q20. In organisms such as Amoeba, the splitting of the two cells during division
can take place in:

3rHtET SR St H, faUTS & SR < PIRID1SH 1 faHTeI 81 Febell &1

(29 Nov 2024, 3rd Shift)

(A) Any plane / CAERNIGI]

(B) One fixed plane / Wﬁf%lﬁﬁ?[
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(C) Two fixed planes / FAEIERA]
(D) Multiple equal planes / 3% UM dd
Answer: (A) Any plane / ﬁé o ad

Q21. Which of the following molecules acts as an information source for
making proteins?

WA S & T Jam1 9id & =0 8§ FfaRad § 9 SH-9T 30 1 ol 67
(27 Nov 2024, 1st Shift)

(A) Deoxyribonucleic acid / %&mﬂm ST

(B) Carbohydrates /

(C) Ribonucleic acid / JSa-gfdids 3
(D) Phospholipids / BIpIftS

Answer: (A) Deoxyribonucleic acid / %&Td(—lnlﬁlsd\lﬁl\l?ﬂw ST

Q22. The division of labour occurs in:

871 T fJUTSIH (division of labour) fHTH BIaT 82

(25 Nov 2024, 2nd Shift)

(A) only unicellular organisms / Had THPHIRBY Siia

(B) only multicellular organisms / &had W Sita

(C) neither unicellular nor in multicellular organism / :ra‘rqmﬁﬁmu sﬁv:re"r
CRCAINCHRESIES

(D) both unicellular and multicellular organisms / QWW ﬁvagﬁiﬁu A
Sitd

Answer: (D) both unicellular and multicellular organisms / WW 3R

SgPIRIBIT, Gl Sffd

Toppr.com

Q23. Variegated leaves are found in which of the following plants?
fFufafad & 3 fog M9 & geferd uftat (Variegated leaves) TTS STl 2
(26 Nov 2024, 3rd Shift)

(A) Banana / ol

(B) Neem / HtH

(C) Croton / hIciF

(D) Rose / T[cIld
Answer: (C) Croton / FAEG]

Q24. What percentage of solar energy is captured by green plants in the
terrestrial ecosystem?

R TR § 8- Irell gRT R Sl 1 fosa1 Uii=rd T80T fohan &l 57

(27 Nov 2024, 2nd Shift)

(A) 10 percent / 10 UfcI=rd

(B) 5 percent /5 IR

WWW. Xa



(C) 100 percent / 100 Ufc=Td
(D) 1 percent / 1 IGEI
Answer: (D) 1 percent / 1 UIGEN]

Q25. Which of the following is the most common simple permanent tissue?

fFofafed 7 @ -1 92 31 urar 9 aTell IR VT SHdb 872
(29 Nov 2024, 3rd Shift)

(A) Epidermis / Q’fﬁ?ﬁfﬂ

(B) Parenchyma / WETIT

(C) Phloem / GITTH

(D) Sclerenchyma /
Answer: (B) Parenchyma /

Q26. Select the INCORRECT statement.

TId Y BT TG BT |

(25 Nov 2024, 2nd Shift)

(A) Male germ-cells are produced by pollen grain. / TR T-DIRIBTY TRAT HUT gRT
a8 g

(B) Female gamete is present in the stigma. / HIGl JTH® qiciepTd B SURYd XgaT 5|
(C) Fertilisation gives us zygote. / BLERE L] YIHAS UTtd TRl

(D) The fusion of male gamete and female gamete is known as fertilisation. / IR
e 3R AG S HT JaT- F8e Haard g

Answgr: (B) Female gamete is present in the stigma. / HIGl THD gfdeiT # Surkyd
REGIN

Q27. Which part of the neuron is respon5|ble for acquiring information?

IRBIRIBT (neuron) BT HIF-TT HIT TS YT B & o ITRER BIell 87
(26 Nov 2024, 1st Shift)

(A) Dendritic tip / GHIPIAP 3T HNT

(B) Axon / diAdT&

(C) Cell body / DIRIBT B

(D) Synapse / STHY

Answer: (A) Dendritic tip / gHIH®D 3{U HIT

Q28. Select the INCORRECT pair.

Td g &1 IG DIfoIC|

(25 Nov 2024, 2nd Shift)

(A) Primary consumer-second trophic level / U IUHTeT - WWW
(B) Autotrophs-first trophic level / WU - JYH W[ WR

(C) Small carnivorous-third trophic level / BI¢ ARITERT - g TINUT ¥R
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(D) Bacteria - fourth trophic level / \_rﬂaTUl - agehﬂww
Answer: (D) Bacteria - fourth trophic level / TrﬁGTQI - agehﬂww

Q29. In the food vacuole of which organism, complex substances are broken
down into simpler ones which then diffuse into the cytoplasm?

for Sfia @t 1o Rfade!  wifed uerd wRa yerdf & ge o § o fhr Sifret g &
el 9T &7

(28 Nov 2024, 1st Shift)

(A) Amoeba / 3HTaT

(B) Lichen /

(C) Plasmodium /

(D) Spirogyra / @@TH%T[

Answer: (A) Amoeba / SIS

Q30. Malarial parasite shows which type of asexual reproduction?
HARAT TRGiE! {8 UBR BT 3(cifiich S G 57

(29 Nov 2024, 2nd Shift)

(A) Binary fission / fgEsH

(B) Regeneration /

(C) Budding / HPdd

(D) Multiple fission / Sg&S
Answer: (D) Multiple fission / Sg& S

Q31. Select the INCORRECT pair regarding Asexual reproduction
AT w9 & e # et g &1 9u i)

(26 Nov 2024, 2nd Shift)

(A) Hydra - multiple fission / 1391 — g8 S

(B) Yeast - spore formation / TR - m o

(C) Plasmodium - multiple fission / eHISTH - 6@"@37[

(D) Leishmania - binary fission / ST - foge

Answer: (A) Hydra - multiple fission / 813 ST — dgHSH

Q32. Identify the correct match of plant hormones with their functions.
Ul & THIA 3R 3P Bl & a9 TSt Add B Ugd HIforg|

(29 Nov 2024, 3rd Shift)

(A) Gibberellins: Help in the growth of the stem / foreaefela: a4 &1 qf& T el
A1 S

Cytokinins: Promote cell division / Hﬁaﬁ?ﬁﬂ PHIFRBT faHTS A qf& hdl %

(B) Cytokinins: Inhibits growth / TTSeIfb{4: 9fG &I AbdT §

Abscisic acid: Inhibits growth / QEI'W 3T : q@ﬁﬁw%

(@) Cy%{okinins: Help in the growth of the stem / TTZcIfdb-: a4 &t gfa & TgRId!
Pl
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(D) Cytokinins: Promote cell division / Fﬂ%ﬁ%ﬁﬂ: PHIRABT ﬁﬂ-ﬂﬁqﬁ?{@m%
Abscisic acid: Inhibits growth / QEI'W 3{T: q@aﬁﬁw%

Answer: (A) Gibberellins: Help in the growth of the stem / foreaefela: aﬁﬁq@ﬁ
HETIAT Bl &

Q33. Identify one example of change taking place at puberty that can signify
sexual maturation.

(27 Nov 2024, 3rd Shift)

(A) Mood swings / HTGGRT & URad—

(B) Behaving differently / 31T g I HdER HrA]

(C) New hair-growth patterns / ﬂqaﬁﬁq@mﬁﬁ
(D) Increase in height /ﬁrs‘frq@

Answer: (C) New hair-growth patterns / G CISIE:| Q'@ &1 e

Q34. The ability of a fully differentiated organism to give rise to new
individuals from their body parts is known as:

gutaar faufed sfta gRT 3rv= YRR & 3N A 71C Sl B &7 3 B &Hdar |1
P 82

(27 Nov 2024, 2nd Shift)

(A) Fragmentation / Ted

(B) Fission / Tad

(C) Budding / HPd
(D) Regeneration /

Answer: (D) Regeneration /Q’IGTTFI

Q35. Which of the following is a cup-shaped part of nephron with which each
capillary cluster in the kidney is associated?

fFrafefad # § 19-91 ATH &1 TP U P TR BT U ¢ RIS J1Y 9o o
TAF HIRIST TS ST ST 82

(28 Nov 2024, 1st Shift)

(A) Proximal convoluted tubule / THIUR] daferd Afcre]

(B) Bowman's capsule / W%Ic'_vﬁ

(C) Distal convoluted tubule / GX®I Haferd el

(D) Glomerulus /

Answer: (B) Bowman's capsule / Eﬁﬂ?@c'_vﬁ
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Q36. What is the mode of reproduction used in the methods such as layering or
grafting to grow many plants like sugarcane, roses, or grapes for agricultural
purposes?

PN TaIeHl & e T3, AT a1 SR 9 8 Nel &Y I & e dafem an
TR SRt faftra & ST &5t 99 arelt v ffy S -3t 82

(27 Nov 2024, 3rd Shift)

(A) Regeneration / Yd®aad-

(B) Fragmentation / WS

(C) Spore formation / aﬁTrITQI Ao

(D) Vegetative propagation / grfde ugdq

Answer: (D) Vegetative propagation / greafde ugdq

Q37. Which of the following statements is/are related to ecosystem?
frafifad & @ S19-a/EH-8 $yF uived J Wdfte 2722

(25 Nov 2024, 1st Shift)

(i) It consists of biotic components comprising living organisms.

(i) All green plants and certain bacteria are producers.

(ili) Decomposers break down complex organic into simple organic substance.

(A) Only (i) and (iii) / ad (i) 3R (i)
(B) (i), (ii) and iii) / (i), (i) 3R (i)

(C) Only (i) and (ii) / Fad (i) 3R (i)
(D) Only (i) / ad (i)

Answer: (B) (i), (ii) and (iii) / (i), (ii) 3R (iii)

Q38. Reflex arcs are formed in which part of the nervous system?
yferad! a1y df®T dF & f| R d 994 72

(26 Nov 2024, 3rd Shift)

(A) Medulla / HEIT=T

(B) Forebrain / 3 ARdH

(C) Spinal cord /ﬁw

(D) Cerebellum / &I_:[J:I%W

Answer: (C) Spinal cord / ﬁF{E\[

Q39. Justify the given statement: 'Plants have low energy needs.’
fau N = P gfY Fifowe: ureul @ FH HoIt B STaRgHdT gl 31
(27 Nov 2024, 3rd Shift)

(A) Plants use relatively fast transport systems.

i WY 3U&MHd ool uRag Jonferdl &1 ITART &d & |

(B) Plant bodies have a small proportion of dead cells in many tissues.
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UG YRR & Hs Sad! H Jd HIRAE137 &1 T Biel 3urd 8idT 7

(C) Energy needs differ between different body designs. Plants do not move and have
a large proportion of dead cells in many tissues.

faftr ARiRe Siftrbedl & dfd SHul Bt wed = gl 8 | UIay T g1 X 3R
39 3 Hdd! B d HIRA®I3] &I §8T JUTd 81T 5|

(D) Because plants are autotrophic organisms and prepare their own food.

Fifp TIY WUt Sig & 3R YT HIeH W S d |

Answer: (D) Because plants are autotrophic organisms and prepare their own food.

Fifp Q1Y Tt Sig & 3R YT HIeH W §91d 8 |

Q40. Who coined the term 'protoplasm’ for the fluid substance of the cell?
PIRTPT & e yerd & e e e fHaa wer un

(26 Nov 2024, 2nd Shift)

(A) Virchow / fa=if

(B) Robert Brown /TIVEI_C.FQ'IBT-[

(C) Purkinje / Gfco~l

(D) Robert Hooke / XT&¢ g

Answer: (C) Purkinje / gfdeal

Q41. The full form of SER, a cell organelle, which helps in the manufacture of
fat molecules, or lipids, important for cell function is:

TUS R (SER) BT IUI U F1 §, SN fob U DITABGIT § TUT S BIFAHT S & forg
TE@yUl a9 3ufaf 3rya forfrs & fAmtor & Terar ol 87

(29 Nov 2024, 3rd Shift)

(A) Simple Endoplasmic Reticulum / Riga teSiaenfsie®
(B) Species Endoplasmic Reticulum /Fﬂ?ﬂ\_ﬂ (6\ If@l-l
(C) Smooth Endoplasmic Reticulum / ¥Ha kSILﬂII & 3]
(D) Similar Endoplasmic Reticulum /ﬁlﬁl?ﬂ kSILﬂII G2

Answer: (C) Smooth Endoplasmic Reticulum

fepan
AN
Afepay
Gk

fopem

~

7-8-

(q!

,(,}

Q42. Membrane bound organelles are NOT present in:
frafafed & O foun ety SIfiwTsi &1 siura gl 62
(27 Nov 2024, 1st Shift)

(A) Only prokaryotic cells / WW@W

(B) Only eukaryotic cells / Wm m

(C) Both eukaryotic and prokaryotic cells / b AIfeH PIRMHTY iR MbRAfeH
DITRBIY Gl

(D) Neither eukaryotic nor prokaryotic cells / :[Fﬁm PIRABTY 3R 7 g
TR HIRIBY

Answer: (D) Neither eukaryotic nor prokaryotic cells / dl Zﬁﬁ'ﬁhﬁ?ﬁ DIRABIY 3R A
HEICIIREZEA I RiEalY
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Q43. A series of compounds in which the same functional group substitutes for
hydrogen in a carbon chain is called:

QD! &1 T T YaaT o Hre- gae & [RUd greg oM & U 8 YHR &1
JehTaIcH® Tg UTaRAIUd SRl §, 39 Hed g

(25 Nov 2024, 1st Shift)

(A) Homologous series / gHoarg 9oft

(B) Isomers /

(C) Heterologous series / fovHaIdT goft

(D) Catenation / 4

Answer: (D) Catenation / §3a

Q44. Select the process responsible for stability of populations of species:

Tl 1 STETE! &1 FRRAT & e StRerd uftsar &1 9g4 Hifoe|
(28 Nov 2024, 1st Shift)

(A) Mutation / SdRad

(B) Reproduction / Usld-

(C) Evolution / f[a&™a

(D) Variation / fafaerar

Answer: (A) Mutation / IARddT

Q45. Which of the following animals shows the power of regeneration?
frafaiaa & 9 forg St & g+ @ &dT gid 82

(27 Nov 2024, 1st Shift)

(A) Earthworm / ﬁ&ﬂ

(B) Tick /

(C) Planaria / 'S IR]

(D) Leech / ST

Answer: (C) Planaria

Q46. Which gland secretes Adrenaline?
DI T T TSI BT H1a BT ]2

(27 Nov 2024, 3rd Shift)

(A) Thyroid gland / umﬁs—sufﬁ

(B) Adrenal gland / G-ffﬁ@'clﬁ"_‘;lﬁ[

(C) Pineal gland / i aa Y

(D) Pituitary gland / ﬁiﬂ?ﬁ‘}lﬁ[
Answer: (B) Adrenal gland
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Q47. Other than the nervous system, which other system helps in control and
coordination in our body?

DT I & ST, DI AT 39 oF FHR IRR | FI01 3R T0-a0 B GG ol 57
(26 Nov 2024, 1st Shift)

(A) Excretory system / IS

(B) Endocrine system / 3{d:HTdl T3

(C) Respiratory system / %9 o=

(D) Digestive system / U= o

Answer: (B) Endocrine system

Q48. Which of the following organisms does NOT show asexual reproduction
by means of fission?

frafafed o @ fora Sfta o fais gRT ofcifie Tor =18t 81l 52

(26 Nov 2024, 1st Shift)

(A) Plasmodium /

(B) Earthworm / HGH

(C) Amoeba / 3fHIsT

(D) Leishmania / NEEHERI

Answer: (B) Earthworm

Q49. Which of the following does NOT increase the rate of evaporation?
frafafad & 3 Far ardieru ot R § gfs 78 axar g2

(26 Nov 2024, 1st Shift)

(A) Decrease in temperature / dIUHIH H wHt

(B) Increase in surface area / Y8 easrﬁq@

(C) Increase in wind speed / Ud- CakCINE: qf&
(D) Decrease in humidity / 3Tedl | HH

Answer: (A) Decrease in temperature

Q50. What is the position of the apical meristematic tissue in a plant body?
018 ¥ iy fqusaiae Sde o1 T o gidlt 82

(28 Nov 2024, 2nd Shift)

(A) At the growing tips of the stems and roots / @ 3R SISl &I gfg Tt HRT
(B) Near the root region only / WGI_S_’EH?[ HAT & Mo

(C) On the lateral side of the stem and roots / a1 ahw@%m% HITUR

(D) Near the node / Yt & Uy

Answer: (A) At the growing tips of the stems and roots

Q51. Harmful metabolic wastes from our body are removed by the biological
process called:

AR TR A gINBRS Ty ufIst ol foeg Sifge ufthar gRT fsp1iad foean sian

87

(25 Nov 2024, 3rd Shift)
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(A) defecation / HAINT

(B) transportation / GRdg

(C) secretion / HId

(D) excretion /

Answer: (A) defecation / HIANT

Q52. Which cell organelle serves as a channel for transport of material between
various regions of cytoplasm?

BIH-H1 DIRABIT HIRebTsod & faftrar &3 H, uardl & uRagd & foft tb 9 & U H
BT AT 57

(26 Nov 2024, 3rd Shift)

(A) Mitochondria / GABIOTHT

(B) Lysosomes / b1

(C) Endoplasmic reticulum / Hﬂﬁaﬂm

(D) Chloroplast / 8Rd dd®

Answer: (C) Endoplasmic reticulum / 3{dged SITfeidT

Q53. Match the following.
(25 Nov 2024, 1st Shift)

Match the following.

(1) The swollen bottom part of the pistil is (a) stigma
(11) The middle elongated part of the pistil is | (b) ovule

(1i1) The terminal part of the pistil is (c) ovary
(1v) The ovary contains (d) style
fafeRad &1 fiam Fifsu)
() TR BT g Aaan yr__ glaig | (a) afdem
(ii) SR I AA T U gidl o BEEIS
(ii) THAHER BT MY YFT__ gl & (c) SFSTRRT
(v) SSREH __ g e (d) afciept

A) (i) (o), (iD)- (d), (iii)-(a), (iv)- (b)

B) ()-(a ). (iD)- (d), (iii) - (0, (iv)- (b)
Q) (@) (b), (i)- (o), iii) - (a), (iv)- (d)
D) () (¢). (ii)- (b), (iii) - (@), (iv)- (d)
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Answer: A) (i) (c), (ii)- (d), (iii)-(a), (iv)- (b)

Q54. In the female reproductive organ of the flower, the swollen bottom part is the
, the middle elongated part is the , and the terminal part that may be



sticky is the stigma.

qS] & HIGT S 371 H, FHRT-Tell W 2T B, 7e B ofa HI Sl
3R < 4T 7 o ﬁrqﬁmm%a‘s’aﬁw:rm%l

(28 Nov 2024, 2nd Shift)

(A) style, ovary / gfclent, srsTRr

(B) ovary, style / 3SR, afcia!

(C) bud, style / G%d, afci

(D) zygote, pollen tube / gTHS, UM ol

Answer: (B) ovary, style / 3[STRH,

Q55. The number of chromosomes becomes half in a daughter cell by the process of:
TS Hdfa DIRrebT H TURET &) T fa ufthar grr aneh 8 S 82

(29 Nov 2024, 1st Shift)

(A) binary fission / fgEe

(B) meiosis / G%m G sG]

(C) mitosis / A DIRABT faHTSH

(D) amitosis / 3T faUTSH

Answer: (B) meiosis / G{?fﬁ\—?ﬁ ICHISE]

Q56. Which of the following lacks a membrane?
frafafed & O foad ois o freeh 18T gl 57
(26 Nov 2024, 1st Shift)

(A) Plant cell / UTGU BHIRIHT

(B) Fungi cell /W?ﬁﬁlﬁ

(C) Viruses / ﬁw

(D) Animal cell / G@ﬁw

Answer: (C) Viruses / ﬁw

Q57. Which tissue is responsible for movement in our body?
AR TR A 5T Hde & SR TIA IHT Bt 82

(28 Nov 2024, 3rd Shift)

(A) Nervous tissue / dA®T Hddb

(B) Muscular tissue / U=y Sd®

(C) Epithelial tissue / 3Udhcll Hddh

(D) Connective tissue / Ot S

Answer: (B) Muscular tissue / Uiy Sde

Q58. Select the option that shows all biodegradable substances.

gqi%@aﬁwq‘fﬁ@rw fp ey &1 gg= B3 ol G+ vig ez gy uerif &1 gaifar
|

(27 Nov 2024, 2nd Shift)
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(A) Eggshells, Tea leaves, Potato peelings / 38 & fesddb, g &1 U, &nq%ﬁm%
(B) Bubble packs, Vegetable peelings, Stale bread / 999 U, gfesl & fad, St
EESS

(C) Glass bottle, Milk packets, Eggshells, Banana peel / ®id P dldd, z;u%ﬁ%, i3
& fe5eip, ol o e

(D) Medicine bottle, Old shoe, Stale biscuits / GdT &1 didd, YRIAT[dT, WW
%nswer: (A) Eggshells, Tea leaves, Potato peelings / 38 & fsdd, Irg &1 Ui, ST

Q59. The gastric glands present in the wall of the stomach do NOT release:
3R it o fRyd TR vt fafaRad o 9 forde e 8t ol 82

(25 Nov 2024, 2nd Shift)

(A) saliva / dIR

(B) pepsin / e

(C) hydrochloric acid / grs'@aaﬁ% KT

(D) mucus /

Answer: (A) saliva / AR

Q60. Which is the internal energy reserve in plants?
et B -1 SHARE Hoif HSR gl 82

(26 Nov 2024, 1st Shift)

(A) Glycogen / TS o

(B) Starch /

(C) Glucose / DI

(D) Sucrose /

Answer: (B) Starch / L]

Q61. Which cell organelle is associated with the generation of ATP?
DIF-1 HIRGHT T IdATE I ST 82

(25 Nov 2024, 1st Shift)

(A) Lysosomes / P TY

(B) Mitochondria / GZ e 01T

(C) Chloroplast / gRd da&

(D) Endoplasmic reticulum / &mﬁaﬂaﬁw

Answer: (B) Mitochondria / gABIUIHT

Q62. Blood brings carbon dioxide from the rest of the body for release into the:
TG IRR & AY HAT F FHle- SIS S Bl Blg & o arer &:

(26 Nov 2024, 3rd Shift)

(A) intestines / 3{Td

(B) oesophagus / PINED

(C) stomach / AHTHIRII

www.Xam l oppr.co



(D) alveoli / W
Answer: (D) alveoli / U]

Q63. Which of the following environmental factors plays a role in the sex
determination of some reptiles?

fafRad & ¥ o1F-8 vl $Re o TGl & ot feRor 7 yftrer Rumd g2
(25 Nov 2024, 2nd Shift)

(A) Pressure / ald

(B) Water / SId

(C) Soil / Hal

(D) Temperature / dTUHIH

Answer: (D) Temperature / dUHIA

Q64. Select the correct statement.

B! Y BT TG DI |

(25 Nov 2024, 3rd Shift)

(A) Pollination is the transfer of pollen grains from stamen to stigma. / UXTITUT URIT
HUI BT YHIR § afdbRT do R ¢ |

(B) Pollination is the growth of the pollen tube in the ovule. / TR §iSTie | WRAT
T Bt 3G B

(C) Pollination is the visit of insects to the flower. / URTTTUT Thed H Bic] BT 3T %I
(D) Pollination is the germination of pollen grains. / RO ORI 01 T &W%I
Answer: (D) Pollination is the germination of pollen grains. / RO ORI UM 1

PRI

Q65. Select the correct statement(s).

T HYH BT 9G4 H1 |

A. Testosterone brings about changes in appearance seen in boys at the time of
puberty. / TR ASH! H TIGATTRIT & A0 ! I BT 5|

B. Progesterone brings about changes in appearance seen in boys at the time of
puberty. / TSR ASH! H TIGATTRIT & A0 &1 I BT 3 |

(28 Nov 2024, 2nd Shift)

(A) Both the statements are false. / Tl PUF T %I

(B) Statement A is true but B is false. / ®Yd A I % Afp B 3™ %I

(C) Both the statements are true. / GIFl &Y9 T gl

(D) Statement B is true but A is false. / ©Yd B I % Afp A 3T %I

Answer: (D) Statement B is true but A is false. / Y- B I % Afp A 3T %I

Q66. The pollen needs to be transferred from the stamen to the stigma. If this
transfer of pollen occurs in the same flower, it is referred to as . On the other
hand, if the pollen is transferred from one flower to another, it is known as
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RATHU BT HER U afdwrT de RIFdRd a1 ST anfgy| afe WRETH Ul &1 a8
RFETRUSH U AGIATE, AU BT oldl g | T 31K, Al RATHT T T ¥
TR I A RAGRISIE, NS FeI gl

(29 Nov 2024, 3rd Shift)

(A) transversion, translocation / deRdcT-—l, IR

(B) cross-pollination, self-pollination / URUNTU], IGURTTUT

(C) translocation, transversion / IR, RCIRERE

(D) self-pollination, cross-pollination / ¥dURTTUT, YU
Answer: (D) self-pollination, cross-pollination / ¥dUNTU], URURTTUT

Q67. Which of the following organisms is/are NOT unicellular?
fafRad & @ DH-91/PH-9 Siid ThDIRISG I T8 6/87

(26 Nov 2024, 1st Shift)

(A) Amoeba / 3fHteT

(B) Plants / T

(C) Paramecium /ﬁmﬁ&m

(D) Chlamydomonas / aﬁnﬁsﬁw

Answer: (B) Plants / 5101

Q68. Which of the following receptors helps in the detection of taste?
fFofafea § ¥ - U6l WTe &t ugaH o Aee Fdl 87

(27 Nov 2024, 1st Shift)

(A) Olfactory receptors / BIVPIR]

(B) Gustatory receptors /

(C) Photoreceptors /

(D) Phonoreceptors / ?-Elﬁ";l'lﬁf

Answer: (B) Gustatory receptors / W"/Tlﬁf

Q69. Select the correct statement.

TG YT BT T B |

(29 Nov 2024, 2nd Shift)

(A) Pollination is the transfer of pollen grains from stamen to stigma. / UXIITOT URTT
HU BT YR F afiprT deb RIFTRY g |

(B) Pollination is the growth of the pollen tube in the ovule. / TRITOT dioTig H IRAT
At Bt 9fg B

(C) Pollination is the visit of insects to the flower. / URNUT T o Picl &1 3T 5
(D) Pollination is the germination of pollen grains. / TRITOT TR Ul 1 &W%I
Answer: (A) Pollination is the transfer of pollen grains from stamen to stigma. /
TRITUT TR FH U BT GhER I T ddb RITIR g
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Q70. Which of the following hormones stimulates the growth of all organs?
frafafied & § SH-31 g Tt ol &t gfS & IEia el 82

(27 Nov 2024, 2nd Shift)

(A) Adrenaline / TfgTeiT

(B) Glucagon /WI"TTT-[

(©) Insulin / $gfer

(D) Growth hormone / ?{@Bﬁ

Answer: (D) Growth hormone / ?{@ Bﬁ

Q71. Traits can be influenced by:

T (Traits) FAfREd # ¥ frgd yaifad g1 davd 82

(25 Nov 2024, 1st Shift)

(A) by both paternal DNA and maternal DNA / Udd@ SIT-TT (DNA) 3R ATq® ST
(DNA),

(B) only paternal DNA / %dd Uqgd SITT (DNA)

(C) only maternal DNA / &dd Hdd ST (DNA)

(D) only maternal grandparent DNA / Wﬂﬁﬂ'&ﬁ (:|T:IT—:|'F-ﬂ) E—ﬂ'Q:FQ (DNA)

Answer: (A) by both paternal DNA and maternal DNA / W@ﬂ'@ﬁ (DNA) @TW
1T (DNA), I

Q72. Metabolic activities that generate nitrogenous waste material in human
beings are removed by:

qa H AISciomgad YRS Uard Id HR- aTal aa1ad Tidfafer & fhee gRIgel
fear S 5

(28 Nov 2024, 2nd Shift)

(A) the vascular system / m?ﬂ

(B) the excretory system / Io

(C) the circulatory system / UREERT oA

(D) the respiratory system / %9 o

Answer: (B) the excretory system / Io

Q73. In our body, brain and spinal cord together constitute the:
AR TR H AT 3R g 3t 53! fae FHufafad &1 fFafr wa 8
(26 Nov 2024, 2nd Shift)

(A) endocrine system / 3{d:HTdl oA

(B) central nervous system / Wm?ﬁ

(C) peripheral nervous system / GRE dfAdT a3

(D) autonomic nervous system / WIId dfAe dF

Answer: (B) central nervous system / W?ﬁﬁ?ﬁ

Q74. Which cell has changing shapes?
{3 DIRIBT BT MBR TGN 5T 67
(25 Nov 2024, 3rd Shift)
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(A) Smooth muscle / e U=t

(B) Ovum / 3{ST
(C) Amoeba / ST
(D) Nerve cell / AfepT HIfRTe6T

Answer: (C) Amoeba / SIS

Q75. Which cell has changing shapes?
o HIRTHT BT HTHR T X8l 57

(27 Nov 2024, 1st Shift)

(A) Smooth muscle / IECRIREE]
(B) Nerve cell / AT IR
(C) Amoeba / 3T

(D) Ovum / 38T
Answer: (C) Amoeba / SIS

Q76. Which sexually transmitted diseases are caused by viruses?
fafRed & ¥ SH-1 I AaTRd INT IRY & HRUT BN 87

(26 Nov 2024, 2nd Shift)

(A) Warts and Gonorrhoea / gapoe) &ﬁTw

(B) Gonorrhoea and Syphilis / {silch 3R faftpfery

(C) Syphilis and AIDS / fftefer ik Tgd

(D) Warts and AIDS / T 3R TgH

Answer: (C) Syphilis and AIDS / Raftefer GﬁTQW

Q77. Different cell organelles such as mitochondria, ribosome, etc., together
constitute the basic unit of life called the:

fafir PIFRAHTT S FFAB BT (mitochondria), TSEH (ribosome), 311G FAHR Sita—
& JAYT IHTs BT AT I §, I T HET o1l 82

(29 Nov 2024, 2nd Shift)

(A) organ system / 3T

(B) tissue / Hhdd

(C) cell / BIRABT

(D) organ / 3T

Answer: (C) cell / PIRABT

Q78. Select the option that shows the correct age range of puberty in human
male and female:

39 Ay &1 T PIfTY ol oW 3R Aigal H AGTRY $I T S AT e=idl g
(29 Nov 2024, 2nd Shift)

(A) 8-11 years / 8-11 9

(B) 11-17 years / 11-17 99
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(C) 6-10 years / 6-10 9
(D) 9-12 years / 9-12 AN
Answer: (B) 11-17 years / 11-17 a9

Q79. Which of the following is the specialised cell that conducts information via
electrical impulses from one part of the body to another?

fufafad & @ H19-3 ue ARkfied HifRme § S faggd maw & gRI IRR & T UM
T GIR YT TP G137 T Tag- Bl g7

(28 Nov 2024, 9:00 AM - 10:00 AM)

(A) Nucleus / HG®H

(B) Neuron / GIEGAIREA

(C) Dendrite / gHI&I

(D) Axon / GifebTal

Answer: (B) Neuron / GIECAIEE

Q80. In which organism does cell division or fission lead to the creation of new
individuals?

for ofta & PifRre favrem o1 fads § u shtal &1 fafur giar 82

(28 Nov 2024, 1st Shift)

(A) Plants / UTcd

(B) Mammals / ESERIR

(C) Unicellular organisms / Wﬁlﬁﬁﬁﬂa

(D) Reptiles /

Answer: (C) Unicellular organisms / Wﬁlﬁﬁﬁﬂﬁ

Q81. The problem of myopia in the human eye can be corrected by using:

a4 A7 § e -2 gy @maifian 9 auwn «f fFafafed § 9 faer sua
I 3t far & Johar 82

(28 Nov 2024, 1st Shift)

(A) a biconvex lens of suitable power / U 3fId &Ear It IHAA A

(B) a plain glass plate / T THAA Hid P WT

(C) a concave lens of suitable power / U SId &HdT T Sfadd oy

(D) a convex lens of suitable power / T SFd &fdr are S oY

Answer: (C) a concave lens of suitable power / T& SId &Hdn arel 3fdad ag

Q82. The moves water and minerals obtained from the soil, while _____
transports products of photosynthesis from the leaves where they are
synthesized to other parts of the plant.

eI A UT ST aYT Wi-rel USrdf &7 a8 HedT 8, 9afd 39 Ui, STet yaTr
TRAYUT & IATE YA gid &, | 90T G & 3T I dF a8+ HaT gl
(28 Nov 2024, 1st Shift)

(A) collenchyma, parenchyma / FAR-BT3HT, RBIHT

(B) phloem, xylem / TITH, SISEH
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(C) parenchyma, collenchyma / a\irchlsl-ll, FARBTZH
(D) xylem, phloem / SITI3dH, TilTH
Answer: (D) xylem, phloem / SIS ¢TH, UFﬁQ"q

Q83. What is the purpose of making urine in the human body?

M4 IR § g7 FAwfor 1 3ewa w32

(29 Nov 2024, 3rd Shift)

(A) To empty the urinary bladder / HAIRMY CIRCINIETSI

(B) To filter out waste products from the blood / TR I 3Ry Idel &1 fAtie
(C) To clean the impure blood coming to the heart / Eﬂ'qff 3 ATl G@@Wﬁ
AT Al

(D) To remove CO, from the blood in the lungs / mﬁW@ CO, ﬁEE'FIT
Answer: (B) To filter out waste products from the blood / TR I GFC@RSI IdTel &1

Q84. Which of the following organisms reproduces by budding?
fFrafafaa o & o1F-a1 st g$ad (budding) RT USI-H 6T 82
(26 Nov 2024, 3rd Shift)

(A) Earthworm / HGH

(B) Hydra / Bl gl

(C) Frog / Hed

(D) Cockroach / ﬁTﬁ@T

Answer: (B) Hydra / Bl gl

Q85. Identify the single-cell organism.
UHd BIRADT g B UgdTT Hiorg|
(28 Nov 2024, 3rd Shift)

(A) Amoeba / 3fHIET

(B) Seaweed / Fl'ﬂﬂ Qard

(C) Leech / Sid

(D) Liver fluke / Gofe &

Answer: (A) Amoeba / SIS

Q86. What is the function of xylem?

SITgAH BT $TU T 872

(25 Nov 2024, 3rd Shift)

(A) Conduction of food / WWW

(B) Conduction of protein / TIIH &1 Hdg+

(C) Conduction of water and minerals / W@@ﬁﬁﬁﬁw

(D) Conduction of lipid / a1 &1 HdgH

Answer: (C) Conduction of water and minerals / Sid Ud J-oll &l dg
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Q87. What is required for the synthesis of thyroxin hormones?
YRR ﬁ'ﬂﬁ (thyroxin hormones) & HIAYUT & 1%[({ HT TAYD %?
(27 Nov 2024, 1st Shift)

(A) Nickel /

(B) Bromine / S

(©) lodine /

(D) Chlorine / FRIA

Answer: (C) lodine / 3TIISH

Q88. Name the scientist who first discovered the cell in 1665.

39 AFAP BT A7 Ta15¢ Oy Jad Ugd 1665 H HIHRAPT B Wi B At
(28 Nov 2024, 3rd Shift)

(A) Matthias Jakob Schleiden / ﬁ%ﬁw@wwgé:{

(B) Theodor Schwann / RIS Y

(C) Antonie van Leeuwenhoek / Qa:ﬁ A Eﬂséqsﬁ

(D) Robert Hooke / Q‘TEFCFEE

Answer: (D) Robert Hooke / e gh

Q89. Which of the following is the longest cell in our body?

fFufafad # 3 gaR TR o 994 dd SIfrer sia-H 82
(27 Nov 2024, 2nd Shift)
(A) Nerve cell / AT BIfRABT

(B) Ovum / 3{ST]
(C) Blood cell / T&d DHIRABT

(D) Fat cell / T IR
Answer: (A) Nerve cell / GIECAAIRE]

Q90. What are the basic building units of organisms?
w4l @t ga fAafor sarg F1a-3t 82

(28 Nov 2024, 2nd Shift)

(A) Cells / HIfRTehT

(B) Bones / 3R

(C) Fibres / ?‘l?j

(D) Tissues / ddh

Answer: (A) Cells / PHIRABT

Q91. Milk is a mixture of:
a¢ faeT fyyor 82
(28 Nov 2024, 3rd Shift)
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(A) only protein / &Had WA

(B) only fat / bdd aT

(C) only water / Had oId

(D) water, fat, protein, etc. / SIcf, 94T, Ui 3|
Answer: (D) water, fat, protein, etc. / SId, 93T, meH e
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